

## **GARAGE & PARKING DETAILS**

House No.	Type of Garage/ Parking allotted	Serial No.	Dimension (Length x width) in Meters	Floor area in sq. meters	Garage/Parking area cost is included or additional
Not Decided	Covered Parking	P01	5.40 mtr X 2.40 mtr	12.96	Included
Not Decided	Covered Parking	P02	5.40 mtr X 2.40 mtr	12.96	Included
Not Decided	Covered Parking	P03	5.40 mtr X 2.40 mtr	12.96	Included
Not Decided	Covered Parking	P04	5.17 mtr X 2.20 mtr	11.37	Included
Not Decided	Covered Parking	P05	5.17 mtr X 2.20 mtr	11.37	Included
Not Decided	Covered Parking	P06	5.17 mtr X 2.20 mtr	11.37	Included
Not Decided	Covered Parking	P07	5.17 mtr X 2.20 mtr	11.37	Included
Not Decided	Covered Parking	P04(A)	5.17 mtr X 2.20 mtr	11.37	Additional
Not Decided	Covered Parking	P05(A)	5.17 mtr X 2.20 mtr	11.37	Additional
Not Decided	Covered Parking	P06(A)	5.17 mtr X 2.20 mtr	11.37	Additional
Not Decided	Covered Parking	P07(A)	5.17 mtr X 2.20 mtr	11.37	Additional
Not Decided	Covered Parking	P08	3.97 mtr X 2.20 mtr	8.73	Included
Not Decided	Covered Parking	P09	6.20 mtr X 2.20 mtr	13.64	Included
Not Decided	Covered Parking	P10	6.20 mtr X 2.20 mtr	13.64	Included
Not Decided	Covered Parking	P11	6.20 mtr X 2.20 mtr	13.64	Included
Not Decided	Covered Parking	P12	4.05 mtr X 2.70 mtr	10.94	Included
Not Decided	Covered Parking	P13	4.05 mtr X 2.70 mtr	10.94	Included
Not Decided	Covered Parking	P14	4.05 mtr X 2.70 mtr	10.94	Included
Not Decided	Covered Parking	P15	4.05 mtr X 2.70 mtr	10.94	Included
Not Decided	Covered Parking	P16	4.05 mtr X 2.70 mtr	10.94	Included
Not Decided	Covered Parking	P17	5.40 mtr X 3.20 mtr	17.28	Included
Not Decided	Covered Parking	P18	5.40 mtr X 3.00 mtr	16.2	Included
Not Decided	Covered Parking	P19	5.40 mtr X 3.00 mtr	16.2	Included
Not Decided	Covered Parking	P20	5.40 mtr X 2.40 mtr	12.96	Included
Not Decided	Covered Parking	P21	5.40 mtr X 2.40 mtr	12.96	Included
Not Decided	Covered Parking	P22	5.40 mtr X 2.40 mtr	12.96	Included
Not Decided	Covered Parking	P23	5.40 mtr X 2.75 mtr	14.85	Included
Not Decided	Covered Parking	P24	5.40 mtr X 2.75 mtr	14.85	Included
Not Decided	Covered Parking	P25	5.40 mtr X 2.20 mtr	11.88	Included
Not Decided	Covered Parking	P26	5.40 mtr X 2.20 mtr	11.88	Included
Not Decided	Covered Parking	P27	5.40 mtr X 2.20 mtr	11.88	Included
Not Decided	Covered Parking	P28	5.40 mtr X 2.20 mtr	11.88	Included
Not Decided	Covered Parking	P29	5.40 mtr X 2.20 mtr	11.88	Included
Not Decided	Covered Parking	P30	5.40 mtr X 2.20 mtr	11.88	Included
Not Decided	Covered Parking	P31	5.40 mtr X 2.70 mtr	14.58	Included
Not Decided	Covered Parking	P32	5.40 mtr X 2.70 mtr	14.58	Included

Urban Living Developers LLP.

**Urban Living Developers LLP**Plot No. E/12, SRB Tower, 7th Floor, Infocity

Patia, Bhubaneshwar - 751024

Phone: +91 92373 85920 Tollfree: 1800 890 3090 Web: urbandnb.com



Not Decided	Covered Parking	P33	5.40 mtr X 2.20 mtr	11.88	Included
Not Decided	Covered Parking	P34	5.40 mtr X 2.20 mtr	11.88	Included
Not Decided	Covered Parking	P35	4.05 mtr X 2.70 mtr	10.93	Included
Not Decided	Covered Parking	P36	4.05 mtr X 2.70 mtr	10.93	Included
Not Decided	Covered Parking	P37	4.05 mtr X 2.70 mtr	10.93	Included
Not Decided	Covered Parking	P38	4.05 mtr X 2.70 mtr	10.93	Included
Not Decided	Covered Parking	P39	4.05 mtr X 2.70 mtr	10.93	Included
Not Decided	Covered Parking	P40	4.05 mtr X 2.70 mtr	10.93	Included
Not Decided	Covered Parking	P41	4.05 mtr X 2.70 mtr	10.93	Included
Not Decided	Covered Parking	P42	5.50 mtr X 2.50 mtr	13.75	Included
Not Decided	Covered Parking	P42(A)	5.50 mtr X 2.50 mtr	13.75	Additional
Not Decided	Covered Parking	P43	5.66 mtr X 3.40 mtr	19.24	Included
Not Decided	Covered Parking	P44	5.66 mtr X 3.20 mtr	18.11	Included
Not Decided	Covered Parking	P45	5.66 mtr X 2.85 mtr	16.13	Included
Not Decided	Covered Parking	P46	5.66 mtr X 2.70 mtr	15.28	Included
Not Decided	Covered Parking	P47	5.66 mtr X 2.70 mtr	15.28	Included
Not Decided	Covered Parking	P48	5.66 mtr X 3.00 mtr	16.98	Included
Not Decided	Covered Parking	P49	5.66 mtr X 3.00 mtr	16.98	Included
Not Decided	Covered Parking	P50	5.66 mtr X 2.85 mtr	16.13	Included
Not Decided	Covered Parking	P51	5.66 mtr X 2.25 mtr	12.73	Included
Not Decided	Covered Parking	P52	5.66 mtr X 2.30 mtr	13.01	Included
Not Decided	Covered Parking	P53	5.66 mtr X2.10 mtr	11.89	Included
Not Decided	Covered Parking	P54	5.66 mtr X2.20 mtr	12.45	Included
Not Decided	Covered Parking	P55	5.66 mtr X2.30 mtr	13.01	Included
Not Decided	Covered Parking	P56	5.66 mtr X2.30 mtr	13.01	Included
Not Decided	Covered Parking	P57	5.66 mtr X2.70 mtr	15.28	Included
Not Decided	Covered Parking	P58	5.66 mtr X2.70 mtr	15.28	Included
Not Decided	Covered Parking	P59	5.66 mtr X2.30 mtr	13.01	Included
Not Decided	Covered Parking	P60	5.66 mtr X 2.12 mtr	11.99	Included
Not Decided	Covered Parking	P61	6.00 mtr X 3.70 mtr	22.2	Additional
Not Decided	Covered Parking	P62	6.00 mtr X 3.50 mtr	21	Included
Not Decided	Covered Parking	P63	6.00 mtr X 3.70 mtr	22.2	Included
Not Decided	Covered Parking	P63(A)	5.00 mtr X 3.40 mtr	17	Additional
Not Decided	Covered Parking	P64	5.50 mtr X 3.00mtr	16.5	Included
Not Decided	Covered Parking	P65	5.50 mtr X 3.00 mtr	16.5	Included
Not Decided	Covered Parking	P66	5.50 mtr X 2.15 mtr	11.82	Included
Not Decided	Covered Parking	P67	5.50 mtr X 2.15 mtr	11.82	Included
Not Decided	Covered Parking	P68	5.50 mtr X 3.00 mtr	16.5	Included
Not Decided	Covered Parking	P69	5.50 mtr X 2.70 mtr	14.85	Included
Not Decided	Covered Parking	P69(A)	5.50 mtr X 2.70 mtr	14.85	Additional
Not Decided	Covered Parking	P70	5.50 mtr X 2.70 mtr	14.85	Included
Not Decided	Covered Parking	P70(A)	5.50 mtr X 2.70 mtr	14.85	Additional

Urban Living Developers LLP.

**Urban Living Developers LLP** 

Plot No. E/12, SRB Tower, 7th Floor, Infocity Patia, Bhubaneshwar - 751024 Phone: +91 92373 85920 Tollfree: 1800 890 3090 Web: urbandnb.com



Not Decided	Covered Parking	P71	5.50 mtr X 2.40 mtr	13.2	Included
Not Decided	Covered Parking	P72	5.50 mtr X 2.40 mtr	13.2	Included
Not Decided	Covered Parking	P73	5.50 mtr X 3.50 mtr	17.5	Included
Not Decided	Covered Parking	P73(A)	5.50 mtr X 3.50 mtr	17.5	Additional
Fire vehicle	Open Parking	P74	6.00 mtr X 2.50 mtr	15	Included
Ambulance	Open Parking	P75	6.00 mtr X 2.50 mtr	15	Included
Visitors	Open Parking	P76	6.00 mtr X 2.50 mtr	15	Included
Visitors	Open Parking	P77	6.00 mtr X 2.50 mtr	15	Included
Visitors	Open Parking	P78	6.00 mtr X 2.50 mtr	15	Included
Visitors	Open Parking	P79	6.00 mtr X 2.50 mtr	15	Included
Not Decided	Covered Parking	P80	5.50 mtr X 3.00 mtr	16.5	Included
Not Decided	Covered Parking	P80(A)	5.40 mtr X3.00 mtr	16.2	Additional
Not Decided	Covered Parking	P81	5.50 mtr X 3.00 mtr	16.5	Included
Not Decided	Covered Parking	P81(A)	5.40 mtr X 3.00 mtr	16.2	Additional
Not Decided	Covered Parking	P82	6.00 mtr X 3.00 mtr	18	Included
Not Decided	Covered Parking	P83	6.00 mtr X 3.00 mtr	18	Included
Not Decided	Covered Parking	P84	6.00 mtr X 3.00 mtr	18	Included
Not Decided	Covered Parking	P85	5.50 mtr X 3.00 mtr	16.50	Included
Not Decided	Covered Parking	P86	5.50 mtr X 3.00 mtr	16.5	Included
Not Decided	Covered Parking	P87	5.50 mtr X 2.40 mtr	13.2	Included
Not Decided	Covered Parking	P87(A)	5.50 mtr X 2.20 mtr	12.1	Additional
Not Decided	Covered Parking	P88	5.50 mtr X 2.40 mtr	13.2	Included
Not Decided	Covered Parking	P88(A)	5.50 mtr X 2.20 mtr	12.1	Additional
Not Decided	Covered Parking	P89	5.50 mtr X 2.50 mtr	12.5	Included
Not Decided	Covered Parking	P90	5.50 mtr X 2.50 mtr	12.5	Included
Not Decided	Covered Parking	P91	5.50 mtr X 2.70 mtr	13.5	Included
Not Decided	Covered Parking	P92	5.50 mtr X 2.70 mtr	13.5	Included
Not Decided	Covered Parking	P93	5.50 mtr X 2.30 mtr	12.65	Included
Not Decided	Covered Parking	P94	5.50 mtr X 2.30 mtr	12.65	Included
Not Decided	Covered Parking	P95	5.50 mtr X 2.50 mtr	13.75	Included
Not Decided	Covered Parking	P95(A)	5.50 mtr X 2.50 mtr	13.75	Additional
Not Decided	Covered Parking	P96	5.50 mtr X 2.70 mtr	14.85	Included
Not Decided	Covered Parking	P97	5.50 mtr X 3.00 mtr	16.5	Included
Not Decided	Covered Parking	P97(A)	5.50 mtr X 3.00 mtr	16.5	Additional
Not Decided	Covered Parking	P98	5.50 mtr X 2.30 mtr	12.65	Included
Not Decided	Covered Parking	P99	5.50 mtr X 2.30 mtr	12.65	Included
Not Decided	Covered Parking	P100	5.50 mtr X 2.70 mtr	14.85	Included
Not Decided	Covered Parking	P101	5.50 mtr X 2.70 mtr	14.85	Included
Not Decided	Covered Parking	P102	5.50 mtr X 2.70 mtr	14.85	Included
Not Decided	Covered Parking	P103	5.50 mtr X 2.70 mtr	14.85	Included
Not Decided	Covered Parking	P104	5.50 mtr X 2.10 mtr	11.55	Included
Not Decided	Covered Parking	P104(A)	5.50 mtr X 2.10 mtr	11.55	Additional

Urban Living Developers LLP.

**Urban Living Developers LLP**Plot No. E/12, SRB Tower, 7th Floor, Infocity

Plot No. E/12, SRB Tower, 7th Floor, Infocity Patia, Bhubaneshwar - 751024

Phone: +91 92373 85920 Tollfree: 1800 890 3090 Web: urbandnb.com



Not Decided	Covered Parking	P105	5.50 mtr X 2.10 mtr	11.55	Included
Not Decided	Covered Parking	P105(A)	5.50 mtr X 2.10 mtr	11.55	Additional
Not Decided	Covered Parking	P106	5.50 mtr X 2.70 mtr	14.85	Included
Not Decided	Covered Parking	P107	5.50 mtr X 2.70 mtr	14.85	Included
Not Decided	Covered Parking	P108	5.50 mtr X 3.00 mtr	16.5	Included
Not Decided	Covered Parking	P109	5.50 mtr X 3.00 mtr	16.5	Included
Not Decided	Covered Parking	P110	5.50 mtr X 3.00 mtr	16.5	Included
Not Decided	Covered Parking	P111	5.50 mtr X 3.00 mtr	16.5	Included

Phone: +91 92373 85920

Tollfree: 1800 890 3090 Web: urbandnb.com Urban Living Developers LLP.



To,
The Chairperson,
Odisha Real Estate Regulatory Authority
Block-A1, 3rd Floor,
Toshali Bhawan, Satya Nagar,
Bhubaneswar-751007

Sub: Clarification on Parking

Sir,

This is to inform you and bring to your kind knowledge that that there are 104 no of Apartments/ Dwelling units in our project and a total 128 Nos of Parking which are as below:

Parking Details:

Parking for Apartments:

104 Nos

Fire Tender Vehicle parking:

01 No (Parking No: P74)

Ambulance Parking:

01 No (Parking No: P75)

Guest 4-wheeler Parking:

04 Nos (Parking No: P76, P77, P78 & P79)

Additional Parking:

18 Nos \*

\*Details of Additional Parking Nos: P04A, P05A, P06A, P07A, P42A, P61, P63A, P69A, P70A, P73A, P80A, P81A, P87A, P88A. P95A, P97A, P104A, & P105A.

We request you to kindly consider the same for registration of our project under RERA.

Phone: +91 92373 85920 Tollfree: 1800 890 3090

Web: urbandnb.com

Thanking you,

Yours Truly Living Developers LLP.

**Designated Partner** 

For Urban Living Developers LLP